Let P=(=5,-3,2), 0=(~6,1,3) and R=(~1,-7,4)., AL ITEMS (oRTH @) POILT SCORE: /13 PTS
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OMLESS OTHEZWISE (LomED
Find the area of triangle APQR .
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In the diagram on the right, D is the midpoint of A—C-, and [ is the midpoint of BD.
Let w=AB and z = AC .
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[b]

[c]
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Find a simpliﬁed expression for vector CB in terms of W and z .
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Find a simpliﬁed expression for vectm BD interms of w and z .
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Find a simplified explessmn for vector CE in terms of wand .
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Let g =<-2,-6,3>and F =<1,-2,—-2>,and let p be a unit vector such that SCORE: /5PTS

the angle between p and ¢ is 457, and the angle between p and 7 is 30°.
Find px (g xF) using the properties of the various vector operations, and without finding .
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Let £ be the line passing through P =(-1,-2,0) and @ =(-3,-1,-1). SCORE: /7PTS

Let & be the plane that is parallel to both ¢ and the vector 71 = T E: k , and also passes through the point R =(4, 3, -35).

[a]

Find the symmetric equation of £ .
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USING PolnT P X+ _ ire 'j:_)—- Z

Find the point-normal form of the equation of §0.
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